
Possible Solutions 

 

a) Your mom said she will give you 1 nickel or 1 quarter. Which would you take, and 

why? 

 

 

 

 

b) Beau thinks he has more money than Phillip. Is he correct? Why or why not? 

 

 

 

 

 

 

 

 

 

 

c) Emily says she has more money than Kelsey. Is she correct? Why or why not? 

 

 

 

 

 

 Emily is not correct. Just because she has more coins doesn’t mean she has more money. 

She only has 3 cents and Kelsey has 5 cents. So, Kelsey has more money than Emily. 

I would take the quarter, because 1 nickel is 5¢ and 1 quarter is 25¢. A quarter is worth 

more than a nickel. 

Beau is not correct. Just because his coin is bigger, doesn’t mean he has more money. He 

only has 5¢ and Phillip has 10¢. So, Phillip has more money than Beau. 

Beau’s Money Phillip’s Money 

Emily’s Money Kelsey’s Money 


